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Question Id : 68634043544 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
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Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634043545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &l B [GU TN B: Ud USHYT A & F9 ¥ [dRad & dl gOR1 39 IRUT Rb EUH &

SIfHFUT A : TRT o Uil Ug-Ug & SR 8l Tl 6

HROT R : URdl D1 0 B Y dls W 74 [GgH Tl 94 Gdvdl| araidd [dgdl dl 9a7e H UER UH ¥ YR dR
®1 Y11 9 3T & |

SR By & 3did 4, -id fGU U [Goed ¥ ¥ Iad 3Ugad 3tk &l 904 DI
1. A SR R GHI ¥l § 3R R. A D! gl URAT &

A SR R S 961§ SR R, A B O e el 8

A O ¥R TR R

A gl el s Al R Il ©

Options :

-2

LFN]

e



686340172005. 1
686340172006. 2
686340172007. 3
686340172008. 4

Question Number : 3 Question Id : 68634043547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634043548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634043549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634043544 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634043545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634043547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634043548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634043549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 6863401425



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634043550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634043550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl o T U] Fa=TH & HIY Y gid & 96 HHiaiad 4 9 1 ded g |

1. FaY died
faem

. fepa fa=mor
4. GO YD

Options :

686340172025. 1
686340172026. 2
686340172027. 3
686340172028. 4

| )

L]

Question Number : 8 Question Id : 68634043552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634043552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Fafeiad ¥ 9 g o [Aied s
1. 7% fi1eTs @1 anll g B
2. gog afsar <=t 4t
3. 78 Al SifE A @I ge 3|
4. 901 9 fO=TeT BT B

Options :



686340172037. 1
686340172038. 2
686340172039. 3
686340172040. 4

Question Number : 11 Question Id : 68634043555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634043555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634043556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634043556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634043558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634043558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634043560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634043560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634043563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634043563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634043564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gid SATUHT W 6 TdaR 1083 DI G 4T &l Ueh IR YT, ol 1984 H SHTUDT TG Hlg & b i
g1

1. GiHaR

2. §YaR

3.7

4. qhdR
Options :
686340172077. 1
686340172078. 2

686340172079. 3
686340172080. 4

Question Number : 20 Question Id : 68634043564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g YT & 6 TdaR 1983 P §HT U Sl U IAGaR U, ol 1984 T TS TG HIg & fohd T
TS

1. 9HaR
2, §YaR
o

4. FehdR

Options :

686340172077. 1
686340172078. 2
686340172079. 3
686340172080. 4

Question Number : 21 Question Id : 68634043565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 3 3o 4 & ufka: aRkyme B el & THE Seig safd e S 3 HEIAAIg

1. Ydia 3uTg
TP 39T

1. RfdP uUg
4, YT (INSAT)

Options :

686340172081. 1
686340172082. 2
686340172083. 3
686340172084. 4

| )

[#5]

Question Number : 21 Question Id : 68634043565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt F 3T 4 & TRk afvymor 9 el & T Sefig safd o SuE S HEI g
1. Ydi I9Ug

2. Rfdd IuIg

3. Y- WdP UUE

4. ST (INSAT)
Options :

686340172081. 1
686340172082. 2
686340172083. 3
686340172084. 4

Question Number : 22 Question Id : 68634043566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
LIST1 LIST I
TEgHIT=a" ST IH
A [dTcd] L BRids
B. [Eacid! I1. [l
C. [HRdY UcgHi—aH Hu-l 111 [PRIYE
D. el IV. [9@c
FofRad fAeel & T 981 31 &1 98- Bifod -

1. A-IIL. B-1. C-IV, D-II
2. AL B-IV, C-1, D-III
3. A-IIL B-IV. C-1. D-II
4. A-IL B-1. C-IV. D-III

Options :

686340172085. 1
686340172086. 2
686340172087. 3
686340172088. 4

Question Number : 22 Question Id : 68634043566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

LIST I LIST I
TEgH g™ U=l T

A [ETcd! 1 ERigs

B. [EeTam! 1. [FRa

C. [HRd™ TegdIag St 1L [PRIIE

D. [Free] V. Rq@e

FofaRad Aol & T 98! 3 &1 98- Fife -

1. A-IIT. B-1. C-IV. D-II
2. A-IL B-IV. C-1. D-11I
3. AL B-IV. C-1. D-II
4. A-TI B-1, C-IV, D-1I1

Options :

686340172085. 1
686340172086. 2
686340172087. 3
686340172088. 4

Question Number : 23 Question Id : 68634043567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR (3ieHe) TUG o U G Bl dlei 4§ A 3R 3 G G&H &l GIcl & o (o0 Hg bl 6|
43 "edl [y 9 § ol Sl g

1. RIPER
_9& aRada

IS-01S
4. 9T TR 9HYUr

Options :

686340172089. 1
686340172090. 2
686340172091. 3
686340172092. 4

| )

[#5]

Question Number : 23 Question Id : 68634043567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR (3h8) TG & Uh Jad i alar § Ad 3R 30 GIR Fad &1 aa o P (070 Hg 9Pl 6|
gg Yol g v 7 ol 5t 81

1. RPER
1&g afyad

IB-TTS
4. e TR IHY0r

Options :

686340172089. 1
686340172090. 2
686340172091. 3
686340172092. 4

[

L]

Question Number : 24 Question Id : 68634043568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I I
A |3 gae 1 [FTOre T AT
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [4r=re Giaw T 1v. [ [dadg
fafead faeedl O I 98l SR &1 9494 Sifut

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340172093. 1
686340172094. 2
686340172095. 3
686340172096. 4

Question Number : 24 Question Id : 68634043568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I I
A |3 gue 1 [FTare o AR
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [grere giag i 1v. [ [dadg
fafafad faeedl & O 98l IR &1 994 I ;

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340172093. 1
686340172094. 2
686340172095. 3
686340172096. 4

Question Number : 25 Question Id : 68634043569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU T S BT % (b ¥U & S &Il §
1. YU oA
2. 49 (BIHH)

& a
1. it

Options :

686340172097. 1
686340172098. 2
686340172099. 3
686340172100. 4

Question Number : 25 Question Id : 68634043569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& T FA BT F% (59 39 H ST STl &

1. YT oA
2. 7 (W)
3, UBIRHS
4. HfUPZ

Options :

686340172097. 1

686340172098. 2

686340172099. 3
686340172100. 4

Part B: Plant Biotechnology

Section Id : 686340858
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401426
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634043570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a growth stimulants, stimulating shoot growth under standard tissue culture
conditions:

1. TIBA - tri iodobenzoic acid
2. ABA - Abscisic acid
3. BAP - Benzylamio purine
4. CCC - chlormequat
Options :
686340172101. 1

686340172102. 2
686340172103. 3



686340172104. 4

Question Number : 26 Question Id : 68634043570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ@ﬁﬁ@'dﬁﬁﬁq@: JeI9P . ol b AH® Sae dadH &1 Fufd & a4 &1 9fS 31 381 o=l

—

. TIBA - (3T =8 a95® 3
. ABA - Ul 31

. BAP - §f-Tal THHI gRA

. CCC - FRAFYUS

Options :

686340172101. 1
686340172102. 2
686340172103. 3
686340172104. 4

| )

[#5]

=

Question Number : 27 Question Id : 68634043571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT a necessary facility for a standard tissue culture laboratory.

—

. A media preparation room/area

[

. Growth room with controlled conditions

L]

. Autoclave
4. Thermocycles

Options :

686340172105. 1
686340172106. 2
686340172107. 3
686340172108. 4

Question Number : 27 Question Id : 68634043571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FraAfREd & ¥ & H-31 GfaeT U AFe Hdd Sat- TaHTRIe & 70 Sawgs Tol ¢ 2
1. Hif&ar 3usy deapaa
fyafad feufedr aren gfs eR® ©a
 SieTaRig
4. yHEfed
Options :
686340172105. 1
686340172106. 2

686340172107. 3
686340172108. 4

[ ]

L]

Question Number : 28 Question Id : 68634043572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Chromosome elimination is most commonly used for the production of haploids in which group of plants.

1. Cereals like wheat and barley

| )

. Legumes
3. Solanaceous plants
4. Apiaceous spices
Options :
686340172109. 1
686340172110. 2

686340172111. 3
686340172112. 4

Question Number : 28 Question Id : 68634043572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o= el & gl & T R S 1 i s & H v S o B -
1 g ohR o S ST
TR (WelleR i)
EREsED
iR TR

Options :
686340172109. 1

| )

L

=Y



686340172110. 2
686340172111. 3
686340172112. 4

Question Number : 29 Question Id : 68634043573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following 1s a method of indirect-gene transfer in plants.
1. Microprojectile mediated gene transfer.
2. Microinjection for DNA delivery.
3. Agrobacterium - mediated gene transfer.
4. Electroporation
Options :
686340172113. 1
686340172114. 2

686340172115. 3
686340172116. 4

Question Number : 29 Question Id : 68634043573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeiad # 9 SH-t [l Qe 1 S gxdioru o1 sm@e fafd g 2
&1 YEUE D GRI S SXIIaR0l

fa—y

[

eSS R SIUT fadron
TS INH §RT S g&iaul

Options :

686340172113. 1
686340172114.2
686340172115. 3
686340172116. 4

L]

Question Number : 30 Question Id : 68634043574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Successful production of haploids from anther culture is Datura was reported by

1. Guha and Maheswari

[ ]

. Murashige and Skoog
3. Fritz
4. Haberlandt

Options :

686340172117. 1
686340172118. 2
686340172119. 3
686340172120. 4

Question Number : 30 Question Id : 68634043574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V2R Seek (URIT HIY Hae) & GRI YR H Thadgdd gwids a1 o [gar i fdar ur o
TTRT SR TRt

TR 3R W1

Rt

4. BEITTS

Options :

686340172117. 1
686340172118. 2
686340172119. 3
686340172120. 4

—

| )
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Question Number : 31 Question Id : 68634043575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The utility of haploids in plant breeding eventually requires production of Double Haploids
(DH).

Reason R: Double haploids may be produced spontaneously or by treatment with colchicine.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 15 correct

Options :

686340172121. 1
686340172122.2
686340172123. 3
686340172124. 4

Question Number : 31 Question Id : 68634043575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR YA RU TR : TP T (A) FEUH RGd 8 @ GERI S99 SRUI(R) S EUH ;

arf‘wu%@]:ﬁﬁ%wmﬁmﬂmﬁmﬁsﬁmﬁmﬁ%ﬁ%aﬂw
TP B

PR (R) : 33 SIS IHHE T H I F STIR & §RI Saed ol IHd 5|
QRIS BYHI & 31l . A f4U U fasedl 8 9 968 U 3R &1 989 I :
1. A SRR &I 98l § SIRR. A D! Ugl ARA &
2. A SR R &I TE € SR R, A BT UET oo el &
3. ATEI R AR I TS
4. ASEI TR g Al R el ©

Options :

686340172121. 1
686340172122.2
686340172123.3
686340172124. 4

Question Number : 32 Question Id : 68634043576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Terminal differentiation of bacteroids is controlled by the production of nodule-specific cystein
rich peptides.

Reason R: Bacteroids can neither divide nor revert back to the non-differential state.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

686340172125. 1

686340172126. 2

686340172127. 3
686340172128. 4

Question Number : 32 Question Id : 68634043576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FUA U : TS § Py (A) FEI I [fE@a ¢ 01 3R 396 RO (R) =0 1 :

HTUPYA (A) : TRIRATS 1 Siawy [que Aisgd & Y a8y RREH gaa 9915s & Sd18 gR1
frafaa fmar smar 81

PRI (R) : dRIRATTS 7 5l [GUITd 81d € SiR A 81 IR-[aVg® 23 & g dic 9&d 5 |
SURIS DYl & 3l T, A 14U Y faeedl O 9 9a8 Uyt 3R &1 98- SIfe :
1. AR REF T8I § SRR AP Jol AT ©

2. A SR R HI U2 § 3R R. A P el e el &
AR S AR TSI R ®
L AT TR AFPIR TS E

Options :

686340172125. 1
686340172126. 2
686340172127.3
686340172128. 4

Question Number : 33 Question Id : 68634043577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Stages in micropropagation

A. Surface sterilization of explant material.
B. Acclimitization and hardening.

C. Establishment of tissue in vitro.

D. Choice of explant

E. Multiplication of shoots and/or roots

Choose the correct answer from the options given below:
LAEDAB
2. DA, CB:B
3.D,A,B,E,C

4. E.B.A.C.D

Options :

686340172129. 1
686340172130. 2
686340172131. 3
686340172132. 4

Question Number : 33 Question Id : 68634043577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YEAYGYT RO -
A. JaHwiie JAF &1 Fded S

B. ST AR HERIBIT
c. faci O Sad &1 -
D. Tqqwiic &1 =1

E. 71 3R/ 01 918 $1 0H

4 for T et & @ 8 SR IR

LACDATB

2DACEB
3 DAEBE. C
4. E.B.A.C.D

Options :

686340172129. 1
686340172130. 2
686340172131. 3
686340172132. 4



Question Number : 34 Question Id : 68634043578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Growth curve of bacteria in a batch culture consist of phases-

Al Death phase

B. Stationary Phase

C. Lag Phase

D. Long-term stationary Phase
E. Log Phase

Choose the correct answer from the options given below:

LLE, C.A B,D

[ ]

2B, E.ILA
3.C.E.B.A,D
4. E.B.A.C.D

Options :

686340172133. 1
686340172134. 2
686340172135.3
686340172136. 4

Question Number : 34 Question Id : 68634043578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&9 PR 1 oflaT0] & g ash & R0 o

A SY B

B. IR Bl

C. AT e

D. AM.TH WY ol
E. &1 Tl

13 forg g Rieedi & @ 98 SR IAL:

1.LE.CAB,D

[

.C,B.E.D. A
3.C.,E.B.A.D
4 E.B.A.C.D
Options :

686340172133. 1
686340172134.2



686340172135. 3
686340172136. 4

Question Number : 35 Question Id : 68634043579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: When m an interspecific or intergeneric hybrid. the chromosomes of one parental genome are
preferentially eliminated, it 1s called chromosome elimination.

Statement IT: Chromosome elimination in widely used in the production of haploids in wheat and Barley.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement II is correct
Options :
686340172137. 1
686340172138.2

686340172139. 3
686340172140. 4

Question Number : 35 Question Id : 68634043579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR YA RU TR : TP T (A) FEUH RGd 8 @ GERI S99 SRUI(R) S EUH ;
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1. A SRR &HI 98I 8

A 3R R EHI Tad &

AT APTR IS TR

ATEITE g AfPTR WE ©

Options :
686340172137. 1
686340172138. 2

2
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686340172139. 3
686340172140. 4

Question Number : 36 Question Id : 68634043580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Composition of Culture Medium, Which of the following statement(s) is true.
A. The culture media need not be sterilized and can be used directly for culturing.
B. The major constituents of culture medium include inorganic nutrients. organic nutrients and growth
hormones

C. The same nutrient media can be used effectively for all plants
D. The various culture media differ mainly in the quantity rather than quality of the nutrient components

Choose the correct answer from the options given below:
1. A. B only
2.B. C only
3.C.D only

4.B. D only

Options :

686340172141. 1
686340172142. 2
686340172143.3
686340172144. 4

Question Number : 36 Question Id : 68634043580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHoeR WIS B W1 & TR H $H-91 U T 8787

A. PR TS &1 SIAUHRM HGWE 761 § 3R 4 Hadb Jad- & o1y TanT 6] 1 9l |
B. Bk NS & I Ued, APE-P UIvP ded. DIEHS UINP dd 3R gig e

c. g2t dieff & forg uep &t diwes HiifSan v fvan o g di g |

D. o Sear Hifear & U dal 1 [0ad] & guld 39! A $ 53 Sia aidl 8

1 feu o fowedt 8 § TEi SR ML
1.$hdd A, B
2. $adB. C
3. 94U C. D
4. $4dUB.D

Options :



686340172141. 1
686340172142.2
686340172143. 3
686340172144. 4

Question Number : 37 Question Id : 68634043581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTI

Selectable Marker gene/reporter gene |Substrate used for selection

A npt II (Neomycin phosphotransferace)] I |Hyeromycin B
B. |hpt (Hygromyvcin phosphotransferace)| II. | X - gluc

C. |p - glucuronidase (GUSB) I | X - gal

D. |6 - galactosidase (lac Z) IV | Kanamyvcin

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-1

[ )

CA-IV. B-1. C-II1. D-IT
3. A-IIT, B-1. C-1I, D-IV
4. A-IV. B-1. C-I1, D-III

Options :

686340172145. 1
686340172146. 2
686340172147. 3
686340172148. 4

Question Number : 37 Question Id : 68634043581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Hogead AT SF/NUIY oiF  [FoF & e uanT 819 ard gae]
_|npt 1t (RO BrEEREEE)| 1 [EEuEEdiEs
hpt E@EHEHH BIEBIEEE) | 1L [X - gluc

EIEER @ NEEE {gus) I, X - gal
ETel- e e (lac Z) IV [FEEdHE

fafatad fawedl § I 9Et S &1 997 DI «

1. A-IV, B-I1I. C-II. D-I

S IREIE

2. A-TV. B-1. C-11, D-II
3. A-IIL B-1. C-IL. D-IV
4. A-IV. B-1. C-I1. D-III

Options :

686340172145. 1

686340172146. 2

686340172147. 3
686340172148. 4

Question Number : 38 Question Id : 68634043582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who gave the concept of cellular totipotency?

1. Gautheret. Nobecourt and White

[

. G. Haberlandt
3. P. Maheswari
4. E. C. Cocking

Options :

686340172149. 1
686340172150. 2
686340172151. 3
686340172152. 4

Question Number : 38 Question Id : 68634043582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BB efeured o1 Rsid fog- g ur -
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2. il SRS
3. U1 Heysl
4. 3. 1. IfdT

Options :

686340172149. 1
686340172150. 2
686340172151. 3
686340172152. 4

Question Number : 39 Question Id : 68634043583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cross between two general species / varieties which can not be hybridized using conventional methods is
called:

1. Plant Breeding

2. Somatic hybridization

Lad

. Hybrid propagation
4. Wide hybridization

Options :

686340172153. 1
686340172154. 2
686340172155. 3
686340172156. 4

Question Number : 39 Question Id : 68634043583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172153. 1
686340172154. 2
686340172155. 3
686340172156. 4

Question Number : 40 Question Id : 68634043584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Function Spatial distribution
A |Oxygen protection 1. |Bacterial cytoplasm
B. [N, fixation I1. |Plant cytoplasm
C. JAmmonia production| III. [Released in atmospherd]
D. [N,0 production IV. [Inside the root nodules

Choose the correct answer from the options given below:

1. A-II. B-I11. C-1, D-IV

| )

. A-IV, B-1. C-I1. D-III
3. A-L B-I. C-IIIL D-IV
4. A-L. B-IV. C-III. D-I1

Options :

686340172157. 1
686340172158. 2
686340172159. 3
686340172160. 4

Question Number : 40 Question Id : 68634043584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 I I

H1d R fqaro
A |airieH 9 59 1 [SitaT] & HifRisTEe
B. HiEdieH RIS 1L [41¢) &1 ifddmed
C. (s @1 3@ 1L [qRHSd 5 Hdd ]
D. | N,0 @1 3@reT V. [53 &1 Uil & HidaR
fafaRad famedi & 4 98t SR &1 949+ e :

1. A-IL. B-II1. C-I. D-IV
2. A-IV. B-1, C-I1. D-III
3. A-II. B-1. C-III. D-IV
4. A-T1. B-IV, C-III, D-II

Options :

686340172157 1

686340172158. 2

686340172159. 3
686340172160. 4

Question Number : 41 Question Id : 68634043585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Bacteria Characteristics
A |Comy bacterium [ |Acid-fast
B. Mycobacteria II. High temperature growth
C. [Nocardia 11 |Club shaped cells
D. [Thermoactinomyces| IV, [Rudimentary branching

Choose the correct answer from the options given below:
1. A-II. B-L. C-III. D-IV
2. A-IIL B-1., C-IV. D-II
3. A-IL. B-1. C-IV. D-III
4. A-L B-III. C-II. D-IV
Options :

686340172161. 1
686340172162. 2



686340172163. 3
686340172164. 4

Question Number : 41 Question Id : 68634043585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

= 3

A [@Hl dac gy 1 [ofsmRe

B. [AR®Ea A 1 |effs® aomH 4 3fg
C. Fi@isdl 111 [F753 & HBR P
D.

] UldeHaET v, [ercafdeiiag zmeq
FfaiRad foseal § O 98! SR & 904 DI

1. A-IL. B-I. C-III. D-IV

2. AL B-1, C-IV. D-II
3. A-IL B-L. C-IV, D-III
4. A-1. B-III, C-IL. D-IV

Options :

686340172161. 1
686340172162. 2
686340172163. 3
686340172164. 4

Question Number : 42 Question Id : 68634043586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The advantage of Synthetic seeds are:

A. They can be stored for upto a year without loss of viability

B. They need special structures like green houses for hardening and establishment
C. They are easy to transport

D. They can be directly sown into the soil like natural seeds

Choose the correct answer from the options given below:

1. A. B only

| )

.A.C.D only
3.B.C only
4. C.D only

Options :



686340172165. 1
686340172166. 2
686340172167. 3
686340172168. 4

Question Number : 42 Question Id : 68634043586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Phm el & A -

A T8 TS 8 a® wila- &Hd & 815 & fa1 Ifd Py s 9@d §

B. 3% Eo U 3R RO & f¢10 FF g3 il Jiay $i Hazgadl gidl o
C. 38 AT T ge- foar o1 &l g

D. Ig WiPiae divil B1 aXg Hid gt & Sy S 9hd 5 |

1 feu o fowedt 8 § TEi SR ML
1.$hdd A, B
2.$Ad A, C,.D
3. $adB. C
4. HaUC. D

Options :

686340172165. 1
686340172166. 2
686340172167. 3
686340172168. 4

Question Number : 43 Question Id : 68634043587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cybrids can be obtained using one of the following methods:

A. Elimination of any one parent cell.

B. Antibiotic resistance in emulated cell

C. Fusion of protoplast from normal parent and non-viable nuclei from other.
D. Fusion of normal protoplast with enucleated protoplast.

E. Selective elimination of one of the nuclei from the heterokaryon.

Choose the correct answer from the options given below:
1. A.C.D only
2.C,D,E only
3.B. C only

4. A B. Conly

Options :

686340172169. 1
686340172170. 2
686340172171. 3
686340172172. 4

Question Number : 43 Question Id : 68634043587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa fofiml 5 anfss fog fY & groura o on g@dar & -

A, [l U SH® DI BRI &I [darg—

B. b1 DRl § uClariics UfcRiyedl

C. YH OH® o Sild Godd 3R GER 6D & JHullldd s Pl G
D. HH-I Gi[d G Pl [Heblal 1Y Sild Godd & d1Y Haa-

E. 8D & U dad &I 9D (a9

+ fEu e fawedt d & Wt SR gHT -
1.Pdd A, C.D
2. $qUC,D.E
3.&ddB. C
4. PAAA.B.C

Options :

686340172169. 1
686340172170. 2
686340172171. 3
686340172172. 4



Question Number : 44 Question Id : 68634043588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In some crops. specially ornamentals it is useful to produce virus-free plants at commereial level.

Statement IT: These plants can be obtained via. explants obtained from virus free plants or through apical
meristems which are generally free of infection.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement IT 1s incorrect

4, Statement I is incorrect but Statement II is correct

Options :

686340172173. 1
686340172174. 2
686340172175. 3
686340172176. 4

Question Number : 44 Question Id : 68634043588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEACAIE AR
HYT 1 : AIINIS TR R T Bodl 3. [d29aar garac] rdi ¥ f[quuRisd Ure §4=1 Sudri giar g |

®YF 11 : T5 U9 ([GUIRIEd Yld 9 o0 70 veawiic 9 a1 uiiere AREH & gRI WK (60U &l 9&d 6. Sl
fos g AU IRd Bid o |

SWRIK HYT & 3falsd F, Hid fu U fasedl § 3 968 Sugad IR &1 99 ST ;
1. Y1 AR BY 1 2 Sel B

2. BYF 1 AR HYF 11 S -1 7T o
3. BYT 1 Tl § ciich- oYU 11 7Ted &
4. BYF17TAd & Al HUF 11 JoT &

Options :

686340172173. 1
686340172174.2
686340172175. 3
686340172176. 4



Question Number : 45 Question Id : 68634043589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pollen grains of many crop species exhibit pollen dimorphism.

Statement IT: In the crops species that exhibit pollen dimorphism, it 1s the small grains (s-grans) that respond
during anther culture.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct

Options :

686340172177. 1

686340172178.2

686340172179. 3
686340172180. 4

Question Number : 45 Question Id : 68634043589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 1 : T5d II Yorfad! @ BIE! & Rl fEudmar weikid ad 8

®YF IL : BTl DI 98 Wollid! o TRFTRU fG=uedl Bld 6. S8 BI¢ IRITHUI (s-grains) B IRATHU
Tasf1 % Ty vfafear 3d &

QRIS Yl & 31eile . A fSU U fadedl 8 9 968 Uy 3R &1 989 I :
1. Y1 AR BY 11 41 T B
2. BYA 1 3R BY 11 ST e 8
3. BYT1 G § Al U 11 7Ted &
4. HYF 17Ted & Cifchd DYA 11 el o

Options :

686340172177. 1
686340172178. 2
686340172179. 3
686340172180. 4



Question Number : 46 Question Id : 68634043590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nodulation in the root hair cell involves signaling cascade

A Nodule formation

B. Activation of cytokinin histidine kinase
C. Production of Nod factors by Rhizobium
D. Calcium spiking

E. Expression of genes and cell division

Choose the correct answer from the options given below:

1.D.E.AB, €

b2

.C,D,B.E. A
3.C.B.E.D.A
4 D.B.A.C.E

Options :

686340172181. 1
686340172182.2
686340172183. 3
686340172184. 4

Question Number : 46 Question Id : 68634043590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSl & aTal B DIRrDTai H Uidet 57 B uichar T Sfifed Hebd= pryua & -

A, T g1

B. GIgcipbai-- [ ®ig-ol &1 Jihaul
C. AEITEadH & §RI Nod B &1 316
D. HIeRray &1 @S g1

E. OIF &t Afiaior T 3R SifReH fdyeH

S fay T Freedt 3 9w 9w 9

1.D. E.AB, C

b2

.C,D,B.E. A
3.C.B.E.D. A
4 D.B.A.C.E
Options :

686340172181. 1
686340172182.2



686340172183. 3
686340172184. 4

Question Number : 47 Question Id : 68634043591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Soil bacteria such as Strepromyces sp. produce bulk of antibioties. that help in cell signalling or
communication among the members of the same species.

Reason R: Nod factor signals produced by root nodulating bacterium are essential for biofilm formation.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

686340172185. 1
686340172186. 2
686340172187.3
686340172188. 4

Question Number : 47 Question Id : 68634043591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FFRUTR: T § 3Ty (A) FEIH ARGd g @ IR S96 ORI (R) H wU & :
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686340172185. 1
686340172186. 2
686340172187. 3
686340172188. 4

Question Number : 48 Question Id : 68634043592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: T- DNA integrates into plant DNA and directs cell to multiply producing a tumor.
Reason R: Ti plasmid of Agrobacterium rumefaciens include 21 virulence genes.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false
4. A1s false but R 1s true
Options :
686340172189. 1
686340172190. 2

686340172191. 3
686340172192. 4

Question Number : 48 Question Id : 68634043592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FUA U : TS § Py (A) FEI I [fE@a ¢ 01 3R 396 RO (R) =0 1 :

SfUFYT (A) : T- DNA 19 & DNA T GHG T BidT © AR SIS &1 fauTiord giex Mid §91 & forg
BEEGEAGIE

PRI (R) : TG NG SHBRITTY & Ca-Woiis & 21 GEEa-4 o ol o
SURIST DY & el . A 14U U fas el © 3 9a8 Sugad 3R &1 99 Difely

1. A SR R 31 981 8 AR R. A P Hel oUReAT 8

A SRR G Tl § SRR, A DI Je! URAT 761 &
AT AGTR IR TSR

AT TS g APIR T ©

Options :
686340172189. 1

b2

L]

e



686340172190. 2
686340172191. 3
686340172192. 4

Question Number : 49 Question Id : 68634043593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Plant pathogens are known to trigger hormone signalling in plants to show defense respone.
Reason R: Jasmonic acid and salicylic acid in plants mediates activation of immune system.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R is false
4. A1s false but R 1s true
Options :
686340172193. 1
686340172194. 2

686340172195. 3
686340172196. 4

Question Number : 49 Question Id : 68634043593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340172193. 1
686340172194. 2
686340172195. 3
686340172196. 4

Question Number : 50 Question Id : 68634043594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phenomenon where, either spontaneously or due to specific treatiments, the chromosome number is
reduced to half in somatie tissues 1s called:

1. Somatic embryogenesis

| )

. Somatic reduction
3. Chromosomal deletion
4, Clromosome restitution
Options :
686340172197. 1
686340172198. 2

686340172199. 3
686340172200. 4

Question Number : 50 Question Id : 68634043594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q@Hﬂgﬁ Wd: 41 {429 GUIR & SR AHICeH FHdd O URE B HE& $H gldbx el 38 Sl 6.
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Options :

686340172197. 1
686340172198. 2
686340172199. 3
686340172200. 4

Question Number : 51 Question Id : 68634043595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Spontancous variations that arise in haploid plants with gametic chromosome number are called as

1. Clonal variations

[ ]

. Mutagenic variations

L]

. Gametoclonal variations

4. Somaclonal variations

Options :

686340172201. 1
686340172202. 2
686340172203. 3
686340172204. 4

Question Number : 51 Question Id : 68634043595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a: el off giias grel § TRice U YA & H1Y S gidl 6. el 6 -
1. FATe firera

TSl s

b

TifEreadEd e

| )

L]

4. GrAEAS T

Options :

686340172201. 1
686340172202. 2
686340172203. 3
686340172204. 4

Question Number : 52 Question Id : 68634043596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The pH of the culture medium is usually adjusted between

1. pH 6-7

[ )

. pH 5-6
3. pH 7-8
4. pH 8-9

Options :
686340172205. 1



686340172206. 2
686340172207. 3
686340172208. 4

Question Number : 52 Question Id : 68634043596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bk HIfSTH &7 pH I GHTAIT B &:

1. pH 6-7

|

. pH 5-6

L¥ ]

.pH 7-8
4. pH 8-9

Options :

686340172205. 1
686340172206. 2
686340172207. 3
686340172208. 4

Question Number : 53 Question Id : 68634043597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The steam sterilization in an autoclave 1s achieved at:

1. 273°C for 15 min

[ )

. 121°C for 90 min
3. 60°C for 60 min
4. 121°C for 15-20 min

Options :

686340172209. 1
686340172210. 2
686340172211. 3
686340172212. 4

Question Number : 53 Question Id : 68634043597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIClerid & SiaR U0 & GRI SIATUHIR B U1K bl Sl & -
1.273°C, 15 fiFe & o

. 121°C. 90 e & fau

. 60°C, 60 e & fau

4.121°C. 15-20 e & foqu

[

L%]

Options :

686340172209. 1
686340172210. 2
686340172211. 3
686340172212. 4

Question Number : 54 Question Id : 68634043598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following are the Micro-nutrients used in culture medium:

1.Ca.Mg. N

[ )

N.LK
3. Mo, Zn. Cu
4. Cu.P. Mg
Options :
686340172213. 1
686340172214.2

686340172215. 3
686340172216. 4

Question Number : 54 Question Id : 68634043598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifed 3 ¥ oF SR difsan & 967 UNe ddl $1 aig Wi ed § -
1. Ca. Mg. N
2ZN.PK
3. Mo. Zn. Cu
4. Cu. P. Mg

Options :
686340172213. 1



686340172214.2
686340172215. 3
686340172216. 4

Question Number : 55 Question Id : 68634043599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a limitation of ovary culture?

1. It leads to the production of haploid plants.

2. It 1s successtul only in a small number of species.

3. Higher levels of plant growth regulators may suppress gynogenesis

4. The frequency of responding ovaries and the number of ovaries is generally quite low.
Options :
686340172217. 1
686340172218. 2

686340172219. 3
686340172220. 4

Question Number : 55 Question Id : 68634043599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad & 9 oF siser Had= o 9 Ay 351 $al g2
1. U8 SIS Uid & I & yfist Ry g
U8 $ad TS Yolfadl & Ihadrgd® a1 o 9adl g
3% O § Ule & gl FoEe e FRId gl aed ¢
4, wfafsran & a1at SisTRIl @t Mgt iR @ ST 15! $H 8l ¢

| )
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Options :

686340172217. 1
686340172218. 2
686340172219. 3
686340172220. 4

Question Number : 56 Question Id : 68634043600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The optimum stage of Pollen for anther culture varies with the species. For some sps. the
optimum stage 1s just before or after the first pollen mitosis. while for others it may be the early binucleate

stage.

Statement IT: Pollen culture 1s independent of the culture conditions and can be performed at any temperature
and photoperiod.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340172221. 1
686340172222.2
686340172223. 3
686340172224. 4

Question Number : 56 Question Id : 68634043600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT 1 : RATHIN a8 B RATHU B SPpaay o] Wi & 91 g sidl 8| o8 Wi & g
STHIAH AT YU WRATHU] HISCIRTY & UhaH Ugdl J1 &1 1 Bl &, Said 39 & Y 78 SR
fGH=® IR g gDl g

FYF 11 : RN Gadq, Tao= ot ganaii iR vk 78 oear g iR &t ot arowe ok werdifas 1
TRT {3 S 91 g

QRIS Yl & 31eile . A fSU U fadedl 8 9 968 Uy 3R &1 989 I :
1. DY 1 3R HY 11 21 TE1 B

2, YT 1 3R DY 11 1 TTed B
3. BT 1 Tol & dfce Y 11 7Tad &
4. HYT 1 7Td & dfthT HYT 11 ol o

Options :

686340172221. 1
686340172222. 2
686340172223. 3



686340172224. 4

Question Number : 57 Question Id : 68634043601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A hup gene (uptake hydrogenase) is used. which helps in recycling of H, produced during
nitrogen fixation.

Statement II: Rhizobic strains with hup ™ gene cannot fix nitrogen more efficiently.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 18 true but Statement II 1s false

4. Statement I is false but Statement II is true

Options :

686340172225. 1
686340172226. 2
686340172227. 3
686340172228. 4

Question Number : 57 Question Id : 68634043601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%félam:{ﬁﬂ{“f{%:

PYAT: TP hup” S (uptake hydrogenase) Pl SUdn gl 8. °il i qﬁaﬁﬂ fufdeu & 95y @E@GFT
T & YAYHUl § Yl Hdl o

HYIL : ASoIag] P oS U hup”™ O1F &, S&ATIA® A5 io UMl Ta] @ 9hd 3
SWRIgd Yl & 3ele §, A fGu U fasedl 8 9 968 Iugad 3R &1 989 i -

1. Y1 3R BT 11 ST T B

2. BYA 1 AR B 11 G 7T &

3. Y1 G § AAleb YU 11 7Teid &

4. HYF 17Ted & ciichd DYF 11 Ul o

Options :

686340172225. 1
686340172226. 2
686340172227. 3



686340172228. 4

Question Number : 58 Question Id : 68634043602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Function of Drug Drug
Viral fusion inhibitor I. |Amantadine

Blocks viral penetration] II. |[Oseltamivir
[nhibits neuraminidase | II1. [Ritonavir
Protease inhibitor IV, |Foscarnet

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-1

[ )

CA-IV. B-1. C-I1. D-III
3. A-IL B-IV, C-1I1, D-I
4. A-I1. B-III. C-IV., D-I

Options :

686340172229. 1
686340172230. 2
686340172231. 3
686340172232. 4

Question Number : 58 Question Id : 68634043602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I LRI
At il
A_ [[quTT] S0 WTaR1HS 1. [3fEdTSIsA
B. [[qum] Hed &I Adhdl & il BIREIGIEE
C. [T @l Uiy @ddl & il ECRICIE
D. [Aieqs Uiaied® IV. [BrEHe
fFrafeiad fasedl o 9 98l Gk &1 99 S -

1. A-TV. B-III. C-I1. D-1
2 A-IV. B-1. C-I1. D-III
3. A-IL B-TV. C-111. D-I
4. A-IL. B-III. C-IV. D-I
Options :
686340172229. 1
686340172230. 2

686340172231. 3
686340172232. 4

Question Number : 59 Question Id : 68634043603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tissue culture raised plants are subjected to specific cultural regimes to make them capable to being
transferred to soil is called.

1. Acelimitization

| )

. Somatic embryogenesis
3. Regeneration

4. Pre-treatment

Options :

686340172233. 1
686340172234. 2
686340172235. 3
686340172236. 4

Question Number : 59 Question Id : 68634043603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fa® HaeH & gRI duR iell &1 ARy G949 crawinsil & sirid @1 ol 5. dlid S5 el 4
RIFTART B & [T T&H F191 o 99 | 59 Wbl S Fol ol 6:
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Trafes sfemenfm

GRS (ReFRE)

 gd-37ER (Hi-diede)

Options :

686340172233. 1
686340172234. 2
686340172235. 3
686340172236. 4

—
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Question Number : 60 Question Id : 68634043604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The reduction of atmospheric N, to ammonia depends on the production of a protein called as

leghaemoglobin
Reason R: The transfer of ammonia from the Rhizobium to the host plant involves a complex eycling of
amino acids.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

686340172237. 1
686340172238. 2
686340172239. 3
686340172240. 4

Question Number : 60 Question Id : 68634043604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A FUA U : TS § Py (A) FEI I [fE@a ¢ 01 3R 396 RO (R) =0 1 :

a{f‘ﬂ-lﬁ%u?r(m: AgH S AgC o @1 ST H 399g- TR H e ATHe HieiH & Sdey 1) MR
GG

PRI (R) : HAT B ASoliead T ToaH 918 & RER &1 widar 5 T 3fd &1 U wfed 9%
gffrd g 8|

SURIG DY & el . A 14U 7Y fas el § 9 998 Sugad 3R &1 99 Difoly
1. A SR R 3 961 € AR R. A Pl Tel AR §
2. A SR R G U8l § 3R R. A DI Hel oI 6l &
3. ATEI R AT R T TS

L AT TR APIR TG ©

Options :

686340172237. 1
686340172238. 2
686340172239. 3
686340172240. 4

Question Number : 61 Question Id : 68634043605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Capsid protein gene (VI) from tomato yellow leaf curl virus provide enhanced resistance in
susceptible tomato hybrids.
Reason R: Transformed plants recovered more effectively from disease than the untransformed plants.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4, A is false but R is true

Options :

686340172241. 1
686340172242.2
686340172243. 3
686340172244. 4



Question Number : 61 Question Id : 68634043605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FFRUTR: T § 3Ty (A) FEIH ARGd g @ IR S96 ORI (R) H wU & :

SfHFYT (A) : TTHT T TP el AR BT HIRTS FISH S (VI) GaG-I=Ie SHIEX & G20 H HiaRIgA
CERIEAR G

PRI (R) : TS U8 FH-2 ol 9el &1 ga-1 & 0 S $aards [T 61 9 ¢
QRIS Yl & 31eile . A fSU U fadedl 8 9 968 Uy 3R &1 989 I :
1. A SR R &IHI 981 § SR R. A DI Hel ARAT §

2

A 3R R S TE € SRR, AT Ut cars AT ©
ATSIEAPIR RIS
AT TEieafeTRUE

Options :

686340172241. 1
686340172242. 2
686340172243. 3
686340172244. 4
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Question Number : 62 Question Id : 68634043606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generalized steps for surface sterilization of explant material are:

A, Treat with 0.1% HgCl,

B. Rinse with 70% ethyl alcohol

C. Wash with double distilled water (sterilized d.w.)
D. Place explant on culture medium

E. Wash the explant thoroughly under tap water

Choose the correct answer from the options given below:
LAB BDCE
2B B D C
3.BBACD
L CADEBE
Options :

686340172245. 1
686340172246. 2



686340172247. 3
686340172248. 4

Question Number : 62 Question Id : 68634043606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UaRie HHdT & Hagid SIauHRA & SH R0 36:

A. 0.1% HgCl, 9§ 3U=R

B. 70% TYTSd Uchied U IHT5

C. 7T SHidd ofd (SilaURed THidd o) F ¢
D. TdHEIIE &l Hed? HifegH U= G-

E. TGOWIIC @l 90 & 91 9 331 g 9T

S fa T Freedt § 9w 99 AR
1.LABDC.E
2.E.B.ADC
3.EEB.AC.D
4. CADB.E

Options :

686340172245. 1
686340172246. 2
686340172247. 3
686340172248. 4

Question Number : 63 Question Id : 68634043607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sequential steps involved in the production of haploid plants through anther culture are:

A. The suspension with anthers and microspores are filtered through nylon sieve.

B. Centrifuge the suspension to collect microspore pallet.

C. Embryoids are formed and produce haploid plantlets.

D. Microspores are inoculated on a solid/liquid medium maintained at 25°C and 16/8 photoperiod.

E. Dessicated anthers are pressed to squeeze out microspores in a sterile beaker containing liquid medium.

Choose the correct answer from the options given below:

1.B,A,C.D,E

[ ]

CBACE I B

3. EEAB.D.C

4. A.B.D.A.E



Options :

686340172249. 1
686340172250. 2
686340172251. 3
686340172252. 4

Question Number : 63 Question Id : 68634043607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R Seek & gRI WS N4 & ST § aifod IRu g -

A RIS R OEHGR & Fdad & Tga- o S I ST

B. AISH R ® Udic & UHha B4 & [0 Faa- @1 Audiad S

C. SIS 39 B 8. 9l & garas il &1 S a3 §

D. HIZ AR 1 25°C dIUAM 3R 16/8 BIEINgs T 3@ U S9/fad Hifsar § giagee &

E. Y RATSHIRI D1 a1 HhTar drel AIghRuRY @ gfdd Hifsar ard S Ifed dies § 3@

=it ferg e fawedt & @ wet s gfe

1.B.AC.DLE

| )

CEALED.B
3 EABD.C
4 A B.D.AE

Options :

686340172249. 1
686340172250. 2
686340172251. 3
686340172252. 4

Question Number : 64 Question Id : 68634043608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
{Antibiotics) (Results)
A [Vancomyein 1. |Block DNA replication
B. |Tetracvclins II. |Cell membrane disruption
C. JQuinolones I11. [Prevents transpeptidation
D. [Polymvxin B | IV. [Protein synthesis inhibition|

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

AL TV. C-LL D-TT

L]

CA-IL B-1LL C-1, D-IV
4. A-I. B-IV. C-I1, D-III

Options :

686340172253. 1
686340172254.2
686340172255. 3
686340172256. 4

Question Number : 64 Question Id : 68634043608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

I I
. oo
A [FPHEEEH 1 [DNA UId®d § 3@y Ual
B [farussia | 1. [ & B &1 fdgeq
C. [f@Ara4 111 [CTHUpPTEedd &l Adhdl &
D. [icHiRA sl | v [0 S=a9u o Al ©
frafarad faeed & I 98t TR &1 901 DI -

1. A-I. B-II. C-III. D-IV
2 AL TV, C-1, D-II
3. A-IIL B-1I. C-1. D-IV
4. A-1. B-IV. C-II. D-III
Options :
686340172253. 1

686340172254. 2
686340172255. 3



686340172256. 4

Question Number : 65 Question Id : 68634043609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protoplast fusion can be effectively used for the production of CMS lines and has the advantages.

A. Only one step is required

B. Nuclear genotype of the cultivar remain unaffected

C. 100% of progenies of somatic hybrids will be CMS

D. Mitochondrial DNA of progeny resemble the mitochondria of parent
E. Protoplasts are treated with indoacetamide to activate mitochondria

Choose the correct answer from the options given below:
1. D, E only
2. A, B. C only
3.C,D, E only

4, B.D only

Options :

686340172257. 1
686340172258. 2
686340172259. 3
686340172260. 4

Question Number : 65 Question Id : 68634043609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CMS @15 & IdTe & U Sifagegd Gag- & HHTd! d¥e ¥ S9arT H forn o1 9adl g 3R g9 diy &

A H3d TP TR BT ATGGHdl il o

B. TSIITd & YGaER SHegy smyfad gar gl

C. Trofesd gsiss ®1100% I-afadi cms grft

D. Hdfcdl & ATScIdifgal © DNA SH® & HIgeidi19al & DNA & GHH 8|

E. AECIHiISal &I Wiehd T & (o0 BIdGed! B USIURICHIES § IU=NRd a1 ol g

<3 frg o et & 8w T g
1. %ad D 3R E

BaAA.B AR C

3.%99 C.D ARE

4.%ad B 3R D
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Options :

686340172257. 1
686340172258. 2
686340172259. 3
686340172260. 4

Question Number : 66 Question Id : 68634043610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major benefits of micropropagation include

A. Rapid multiplication and maintenance of uniformity
B. Multiplication of disease free plants

C. Production of chimeric plants

D. It 1s an expensive and labour intensive technique

Choose the correct answer from the options given below:
1. A. B only
2.A. B, C only
3.B.C.D only

4. C.D only

Options :

686340172261. 1
686340172262. 2
686340172263. 3
686340172264. 4

Question Number : 66 Question Id : 68634043610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YeAvd e & TR AT & -

A, @RT TUH 3R THE Y &I a1 3@
B ]I 1T T 1o

D. 78 T3 TET IR 97 FuT o 2
i feu e fawedt ° & wgt SR gAY :
1. %ad A 3R B
2. BaAA. B SR C
3.%ad B. C R D
4.%ad C 3R D
Options :
686340172261, 1
686340172262. 2

686340172263. 3
686340172264. 4

Question Number : 67 Question Id : 68634043611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following pre-treatments DO NOT promote androgenesis.

1. Irradiation with X-rays and Gamma rays

I._.'I

. Cold treatment (3-5°C for 2 days)
3. Glutamine and sugar starvation
4. Temperature of more than 60°C

Options :

686340172265. 1
686340172266. 2
686340172267. 3
686340172268. 4

Question Number : 67 Question Id : 68634043611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 5 ¥ $H ¥ J4-399R TUSoH1ad &1 §¢1al ol 4d 87
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Options :

686340172265. 1
686340172266. 2
686340172267. 3
686340172268. 4

Question Number : 68 Question Id : 68634043612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The shoot multiplication medium 18 designed to promote axillary branching such a medium usually contains

1. High cytokinin to auxin ratio

[ )

. High auxin to cytokinin ratio

3. High core of GA;

4. High concentration of Indole Acetic Acid
Options :
686340172269. 1
686340172270. 2

686340172271. 3
686340172272. 4

Question Number : 68 Question Id : 68634043612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & TUM TifSgn 1 Uieuerl St 1 ggrar ¢ & o s+ o 81 U Hifsa o e gl e -
. HITFE1 8 HIgcielg - &1 3= 3Jurd
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Options :
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686340172269. 1
686340172270. 2
686340172271. 3
686340172272. 4

Question Number : 69 Question Id : 68634043613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Etoposide and Teniposide, widely used in anti-tumor therapy are extracted from which plant?

1. Salvia miltiorrhiza

2. Catharanthus roseus

5]

. Podophyllum hexandrum
4, Camprhotheca acuminate

Options :

686340172273. 1
686340172274. 2
686340172275. 3
686340172276. 4

Question Number : 69 Question Id : 68634043613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR SUER & AU s0T9@ =0 ¥ YO 814 9T Uelgrge SR cHUgs &% are I Fere o 87
1. Trfeaan fafee s
U R
Orsiftham gabgH
ST e

Options :

686340172273. 1
686340172274. 2
686340172275. 3
686340172276. 4
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Question Number : 70 Question Id : 68634043614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following bacteria can actively degrade chitin and cellulose and produce antibiotics such as
gentamicin

1. Micromonospora sp.
2. Actinoplanes

3. Dacrylosporangium
4. Pilimelia

Options :

686340172277. 1
686340172278. 2
686340172279. 3
686340172280. 4

Question Number : 70 Question Id : 68634043614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[FafelEd o 4 o= 91 oo 9ichd =4 I S15cA SR Jega™ ol (HHIBR0 R SeHgal ol
Tlarifed &1 e H UFHdl 6 -

OIS R RT T2
gfdeA golg
. SaeTedl WRSIH
4. fofemferan
Options :
686340172277. 1
686340172278. 2

686340172279. 3
686340172280. 4

—

[

L]

Question Number : 71 Question Id : 68634043615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following 18 NOT a sulfur reducing bacteria
1. Desulfovibrionales
2. Desulfobacterales
3. Desulfuromonadales
4. Frankia

Options :



686340172281. 1
686340172282. 2
686340172283. 3
686340172284. 4

Question Number : 71 Question Id : 68634043615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[afcEd I 9 o9 91 Slia1y] HehR 1 $U=a- 9] Rl 6 -
1. fsgemifafgsineg

[ i

2. ladeibldigc~

3. fSUeRT HIHS
4. Sefa

Options :

686340172281. 1
686340172282. 2
686340172283. 3
686340172284. 4

Question Number : 72 Question Id : 68634043616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In many species the culture medium becomes dark in color in some time.

Reason R: Phenolics reach into the medium from the cut surfaces of explants. These turn dark brown upon
oxidation.

In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340172285. 1
686340172286. 2
686340172287. 3
686340172288. 4



Question Number : 72 Question Id : 68634043616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR P RUTU R TP 3B (A) IR T & IR (R)
AFUTYT (A) : TS Uil & Feer HifST9 5 TG & a1 TR T H1 6l a6
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SURIRI B! Bl 3@d gU Hafaiad f[deel o Iied IR &1 989 Doy
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2. AR REA AT IR R, A P! TE AR T8l &

3. AR AfR 39 ©

4. AT APIR IS

Options :

686340172285. 1
686340172286. 2
686340172287. 3
686340172288. 4

Question Number : 73 Question Id : 68634043617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Cephalosporins. with 7-o-methoxy group are produced by Strepromyces sp. . developed to
overcome allergic problems associated with penicillins.

Statement II: Cephalosporin is a fermented product of Acremonium chrysogenum.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
Options :
686340172289. 1
686340172290. 2

686340172291. 3
686340172292 4



Question Number : 73 Question Id : 68634043617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT 1 : R, e e & gr 7-«-Aurad 998 3 i e 31 7e afReia 3 9
gersl g TSt @ R R & o e iyd $ TS B

HY 11 : R aRaiie pi-an sedeHy o1 fafiad 3ar B
SWRIFd BYAI & IR H 3T T fasedl # Tel SR &1 997 BIfoiT ;
1. YT AR DU EHI Tl &
2. BYA AR BYT I &I TAd 5 |
3. PYT1 S € b= PYT TR & |
4. YT 17Td § b DY 1T eI &

Options :

686340172289. 1
686340172290. 2
686340172291. 3
686340172292. 4

Question Number : 74 Question Id : 68634043618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Protein Type Function
A |Tub Z 1. |Positioning Magnetosomes
B MamK 1L |Cell division
C. [Fts Z II1. |Curvature induction
D |Cre 5 IV |Plasmid Segregation

Choose the correct answer from the options given below:

1. A-III, B-1I. C-I, D-IV

| B

CA-IV. B-L. C-1I1. D-IT
3. A-L. B-IV. C-III. D-II
4. A-IV. B-1. C-I1, D-IIT
Options :

686340172293. 1
686340172294. 2



686340172295. 3
686340172296. 4

Question Number : 74 Question Id : 68634043618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

I 1T
u‘lﬁ@m Hﬁ-:-n}ﬁ
A [TubZ 1. [AUCRSIH & ®ad
B. Mam K 1L [t fayrei
C [FsZ 111 [ashell TROT
D. [Cre S IV. [l S gydh

frafafad fomedl & @ 98t SR &1 9ua P -
1. A-III, B-I1, C-I, D-IV
2. A-IV, B-I, C-III, D-II
3. A-L B-IV, C-II1, D-II
4. A-IV, B-I, C-I1, D-III

Options :

686340172293. 1
686340172294. 2
686340172295. 3
686340172296. 4

Question Number : 75 Question Id : 68634043619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mycobacterial filaments readily fragments into rods and coccoidal bodies because-
A. They are aerobic and catalase positive
B. They grow very slowly
C. Outer membrane is packed with mycolic acids

D. Mycobacteria lack evoled porins.
E. Mycobacteria do not cross-link with arabinose and galactose subunits

Choose the correct answer from the options given below:

1. A.B.E only

[ ]

.B, C.D only
3.A.B.Conly

4. D. E only



Options :

686340172297. 1
686340172298. 2
686340172299. 3
686340172300. 4

Question Number : 75 Question Id : 68634043619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ aaci gl & haT<d IS R Hidbgsa el HHT I €€ Id & i -

A. T8 WIfe® 3R Heos mivfed g1d

B. UE 9gd U i #d ¢

c. TTes freet nesifte uirs ¥ v Bt B
D. méiﬁﬁmﬁﬁaﬁmﬁﬂw%"fﬁm

E. OIe®9ad T RE 3R g & 3U-3higdl § Hiy-foie Taf &ed ol
3 fo o faereni 8 9 A TR R

1.$dd A, B.E

2. $adB.C.D

3. PAU A, B.C

4. $aUD,E

Options :

686340172297. 1
686340172298. 2
686340172299. 3
686340172300. 4

Question Number : 76 Question Id : 68634043620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
LISTII
Plant Growth Regulator (PGR
Example
A JAuwan L |GA;
B. |Cytokinins 1. |Ethephon
C. |Gibberelling I1I. [Furfuryvlamino purine
D |[Ethylene IV |Indole Acetic Acid

Choose the correct answer from the options given below:

1. A-I. B-IV. C-I1I. D-I1

| )

CA-IL B-IV. C-I1, D-I
3. A-IIL B-IV. C-1. D-II
4, A-IV, B-I1L. C-I. D-II

Options :

686340172301. 1
686340172302. 2
686340172303. 3
686340172304. 4

Question Number : 76 Question Id : 68634043620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 Gl 11 ¥ faH Siforg

1 I
A -3ﬂ1ﬁh:ﬂ:|' E G’A;
B. [GI3ci®EAA 11 [5uaiA
C. [FSreRTa—~= 111 [(RORE UHHI TR
D. [guTgaid V. [5=ia qed o
frafeiad fasedl & I T8l IR &1 991 HIU -

1. A-I. B-I'V, C-I11. D-II

2. AL B-1IV, C-I1, D-I

3. A-IIL B-IV. C-I. D-II

4. A-IV, B-TII. C-I. D-II
Options :

686340172301. 1
686340172302. 2



686340172303. 3
686340172304. 4

Question Number : 77 Question Id : 68634043621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Certain differentiated cell undergo changes to become meristematic. This is called
dedifferentiation.

Reason R: Renewed and enhanced RNA and protein synthesis 1s occurs during dedifferentiation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

686340172305. 1
686340172306. 2
686340172307. 3
686340172308. 4

Question Number : 77 Question Id : 68634043621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 Gl PYA (UL § - Us Sy (A) & &0 H [ifGd ¢ df g8 39® SRUI(R) P &0 1 :

&fwuﬂgay:@%ﬂﬁﬂaﬁiﬁmﬂﬁﬁmaﬁ%m glad I el ¢ | 59 stk
G IR

BRI (R) : [SFEHRTTIE & ERM 70 3R 1Y% RNA 3R HIEH &1 J=d9u gl g |
SWRIK HYT & 3falsd F, Hid fu U fasedl § 3 968 Sugad IR &1 99 ST ;
1. A R R 3 981 € AR R, A D! &I RS B
2. A SRR G A 8 SR R, A D el IR 181 §
3 AT R AfpT R Tt A R

L AT TR APTIR TS B

Options :
686340172305. 1



686340172306. 2
686340172307. 3
686340172308. 4

Question Number : 78 Question Id : 68634043622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is known as 'Serrated Wintergreen Plant', that obtain most of their carbon compounds
from parasitized microbes.

1. Centaurea maculosa

2. Orthilia sceunda

3. Adiantum sp.

4. Atropa belladona
Options :
686340172309. 1
686340172310. 2

686340172311. 3
686340172312. 4

Question Number : 78 Question Id : 68634043622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & @ oF Wes [deia 019 & =g 5 I oiar 6. 9 310 HTYHie S1e- 3ifie &f tRaid]
Y&HSIal I T B & |

1, =T Agara
- sfreffferan st
 ufsyuen wizfis
TSI SIS T

| )

[#5]

=

Options :

686340172309. 1
686340172310. 2
686340172311. 3
686340172312. 4

Question Number : 79 Question Id : 68634043623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a-proteobacterial genera are able to form nitrogen-fixing nodules with legumes. These include-

1. Azorhizobium

[

. Burkholderia

L]

. Cupriavidus
4. Pandorace

Options :

686340172313. 1
686340172314. 2
686340172315. 3
686340172316. 4

Question Number : 79 Question Id : 68634043623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o-Hife e Rad o1 oy O Argcie [Ciad Uil av o gem g1 9% aiifad ¢ -

1. ToREuIead
2. @l

3. JufasH
4. 9USRY

Options :

686340172313. 1
686340172314. 2
686340172315. 3
686340172316. 4

Question Number : 80 Question Id : 68634043624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Secondary compound identified from Phaseolus vulgaris which demonstrates insecticidal properties is -

1. Aminophenylalamine

[ )

. Castanospermme
3. Arcelin

4. Rotenoids

Options :
686340172317. 1
686340172318. 2



686340172319. 3
686340172320. 4

Question Number : 80 Question Id : 68634043624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R J@ IR & Ul & ardl fgdiae JiRTe S Sie-1=e 100 &1 Ueiid &l ¢-
 THAGARAUTHS
BRI
SffeE
RIGEI NIESL]

ja—y

| )

L

=Y

Options :

686340172317. 1
686340172318. 2
686340172319. 3
686340172320. 4

Question Number : 81 Question Id : 68634043625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The anammox reaction is an anaerobic reaction performed by -

1. Plectomycetes

[ )

. Planctomycetes

Lad

. Chlorobi
4. Cyanobacteria

Options :

686340172321. 1
686340172322. 2
686340172323. 3
686340172324. 4

Question Number : 81 Question Id : 68634043625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UATHIE 3501 U Sardr (a1 5| U8 (e gRI I oIl © -
1. I ATg RIS

| e

Wiae RIS
 FARTE!
4. T

Options :

686340172321. 1
686340172322.2
686340172323. 3
686340172324. 4

[ ]

L]

Question Number : 82 Question Id : 68634043626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Denitrification process is demonstrated by which of the following bacteria:

1. Geobacter metattireducens

(B

. Nitrosomonas sp.
3. Archaeoglobus
4. Thiebacillus sp.

Options :

686340172325. 1

686340172326.2

686340172327.3
686340172328. 4

Question Number : 82 Question Id : 68634043626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferediftparem uferan Fafafaa siam § § g gr1 veRfa i &

[y [ -

1. fSi3fiedeR Heec ey -4
Sfisiiverey
4. sy Wit

Options :
686340172325. 1

| )

L



686340172326. 2
686340172327. 3
686340172328. 4

Question Number : 83 Question Id : 68634043627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is free-living anaerobic bacteria.

1. Clostridium sp.

[

. Trichodesmium
3. Azotobacteria
4. Bacillus sp.

Options :

686340172329. 1

686340172330. 2

686340172331. 3
686340172332. 4

Question Number : 83 Question Id : 68634043627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{49 & 9 19 91 U G olld Sdrgdid siary] e:
1. FAESITSTH T4, b1,
 CISPIsIgy
R EECCSE|
S g, o,

Options :

686340172329. 1
686340172330. 2
686340172331.3
686340172332. 4

| )

(5]

=

Question Number : 84 Question Id : 68634043628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In bacterial nitrogen cycle which of the following serve as an electron donor.

1.NO;~

!._.'I
Z
¥

%]
4

Options :

686340172333. 1
686340172334. 2
686340172335. 3
686340172336. 4

Question Number : 84 Question Id : 68634043628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sffeRud TRcom 9% B e S 4 P sodcH el & 9 8 &1 Hd1 82

1.NO;~

2. NO,™

£

3.NH,
4.N,

Options :

686340172333. 1
686340172334.2
686340172335. 3
686340172336. 4

Question Number : 85 Question Id : 68634043629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Sterilization Technique) (Material Sterilized)
A |Drv heat (160-180°C for 3h)| 1. [Platform of Laminar Air Flow.
B. JAutoclave I1. [Nutrient media, glassware.
C. [Filter sterilization III. [Empty glassware, culture vessels
D. [Wiping with 70% ethanol IV, [Heat labile compounds like GA;. ABA, etd

Choose the correct answer from the options given below:

1. A-IL. B-III, C-I. D-IV

| )

AL B-IIL C-IV. D-I
3. A-IV. B-II. C-1. D-III
4, A-L. B-I1. C-IV, D-III

Options :

686340172337. 1
686340172338. 2
686340172339. 3
686340172340. 4

Question Number : 85 Question Id : 68634043629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

A1 %II
SHATUEATRE 1S |
=I5 THT (160-180°C 3 R =

g e L [affHR 91g YaTg &1 &ehi

B. |3flcideid I1. [OTyor HifSaT, TE 90

C. [t SiaTHTEH 111 [f@redl 77/ 993, ook dad]
P — . [R® HdeTiid de o

D. [70% THTe | |1 BT | IV. 5 Gay, ABA T

frafafad famedt o 9 9el STk &1 =g DI :

1. A-IL, B-III. C-1. D-IV
2. AT, B-11. C-IV. D-I
3. A-IV, B-11, C-1, D-III
4. A-I, B-II. C-IV. D-III

Options :
686340172337. 1



686340172338.2
686340172339. 3
686340172340. 4

Question Number : 86 Question Id : 68634043630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Antimicrobial activity can NOT be measured by

1. Dilution susceptibility test
2. Disk diffusion test
3. The E-test
4. Ames Test

Options :

686340172341. 1

686340172342. 2

686340172343. 3
686340172344. 4

Question Number : 86 Question Id : 68634043630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Itaga TMiatafy @1 fhdep gRT =76l |11 S §ebdl &:
. STEqRH FapfEfd ¢

o s ¢

E-C¥

THETE

Options :

686340172341. 1
686340172342.2
686340172343. 3
686340172344. 4
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Question Number : 87 Question Id : 68634043631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Disease Black-leg in rape seed and turnip rape 1s caused by -

1. Stremonitis sp.
2. Alternaria brassicola
3. Borryiis cinerea
4. Phoma lingam

Options :

686340172345. 1

686340172346.2

686340172347. 3
686340172348. 4

Question Number : 87 Question Id : 68634043631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s AR e 30§ urlt I arell sad-a SR [Bgd gRI g
1. EaAfe wfifte
e sfyeTan

| )

[#5]

_diersfed R
4. Wi iy

Options :

686340172345. 1
686340172346. 2
686340172347. 3
686340172348. 4

Question Number : 88 Question Id : 68634043632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first DNA based molecular marker, used for the study of DNA polymorphism in variety of plants was -

1. Single sequence repeats

[ )

. Restriction fragment length polymorphism

%]

. Amplitfied fragment length polymorphism
4. Single cell proteins

Options :
686340172349. 1



686340172350. 2
686340172351. 3
686340172352. 4

Question Number : 88 Question Id : 68634043632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$I- 91 Ugal DNA A1 anfiaes e givf &t uonfaal § DNA Oiciaithed & 31eaa= & forw uam
IEIRICIRYE

1. f¥me Hieg Rfte

o T —{

RiTewE = dy uldiEiGes
UEAwES i oY gid oy
4. FTTE 9 UIeH

Options :

686340172349. 1
686340172350. 2
686340172351. 3
686340172352. 4

[
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Question Number : 89 Question Id : 68634043633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the role of plant jasmonates in plant-plant interactions?

1. They enhance plant competition for resources.

[

. They supress plant competition for resources.
3. They have no effect on plant competition.
4. They enhance plant cooperation for resources.

Options :

686340172353. 1
686340172354. 2
686340172355. 3
686340172356. 4

Question Number : 89 Question Id : 68634043633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w@ie SEHe 31 el & uRERE wagR § 1 Y@ § 2
1. Tg Sy & forg el & wfoege serd 5
2. g Gyl & forg dielt & wicegel &H ®vd §
3. 11 Ul 1 wfaregef 7 i yffreeT g B
4. 08 1T & fow qidf & Tewiiar 9gd §

Options :

6863401723531
686340172354.2
686340172355. 3
686340172356. 4

Question Number : 90 Question Id : 68634043634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How does Gibberelic acid stimulate stem elongation in plants?

1. By promoting cell-division and elongation in stem tissues

[

. Increasing levels of anti-oxidants

L¥ 5]

. Decreasing levels of plant growth hormones
4. By inhibiting the synthesis of plant secondary metabolites
Options :
686340172357. 1
686340172358.2

686340172359. 3
686340172360. 4

Question Number : 90 Question Id : 68634043634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forafere s qiell & 7 & b0l 1 8 TEIT- BT 2
1. 7 & SGHadl § BT fauTe 3R dHlezu i ggrar gH
TS & TR &l 9T
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Options :



686340172357. 1
686340172358. 2
686340172359. 3
686340172360. 4

Question Number : 91 Question Id : 68634043635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the direct method of protoplast isolation. the enzyme mixture consist of-

1. 3% cellulase, mannitol at pH 6.0

[ )

. 2.5% cellulase. mannitol and sorbitol at pH 6.0

Lad

. 0.5% macrozyme. 2% cellulase in 13% sorbitol at pH 5.4%
4. 3% cellulase and mannitol at pH 5.4%

Options :

686340172361. 1
686340172362. 2
686340172363. 3
686340172364. 4

Question Number : 91 Question Id : 68634043635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeIeRe HaTaH @1 U &Y & vai §14 ara Ussd B0 &7 8idT 6
1. pH 6.0 TR 3% Hcgaiia, BHiela

. pH 6.0 IR 2.5% Yegardl, H-ield IR gRfaerd

3. pH 5.4% TR 0.5% ARRIEE, 13% IRfEe@ 8 2% Togars

4. pH 5.4% TR 3% Hegais 3R Hel

(B

Options :

686340172361. 1
686340172362. 2
686340172363. 3
686340172364. 4

Question Number : 92 Question Id : 68634043636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After a period of time. it becomes necessary to transfer organs and tissue to fresh media (sub-culturing). This
i because

A. Culture vessel gets damaged

B. Culture medium is depleted of its nutrients
C. Photoperiod can not be maintained

D. Drying of culture medium

Choose the correct answer from the options given below:
1.A B.C.Donly
2.A C.Donly
3.A.B.Donly

4.B. D only

Options :

686340172365. 1
686340172366. 2
686340172367. 3
686340172368. 4

Question Number : 92 Question Id : 68634043636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172365. 1
686340172366. 2
686340172367. 3
686340172368. 4



Question Number : 93 Question Id : 68634043637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Nitrogenase enzyme in Frankia sp. . is oxygen insensitive. doesn't requires molybdenum and
cobalt for fixing N,.

Statement IT: Frankia sp. are microaerophilic and can fix atmospherie Nitrogen
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I is false but Statement IT is true
Options :
686340172369. 1
686340172370. 2

686340172371. 3
686340172372. 4

Question Number : 93 Question Id : 68634043637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172369. 1
686340172370. 2
686340172371. 3
686340172372. 4



Question Number : 94 Question Id : 68634043638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Protoplast viability can be tested using:
1. Calcofluor white
2. Fluorescein diacetate
3. Phenosafranin
4. Ames test
Options :
686340172373. 1
686340172374. 2

686340172375. 3
686340172376. 4

Question Number : 94 Question Id : 68634043638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172373. 1
686340172374. 2
686340172375. 3
686340172376. 4
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Question Number : 95 Question Id : 68634043639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following protoplast induced fusion method is applicable for inactivation of sendai virus in
animals

1. Infilteration

[ ]

. Cybridization
3. NaNOj treatment

4, Sterilization

Options :

686340172377. 1
686340172378. 2
686340172379. 3
686340172380. 4

Question Number : 95 Question Id : 68634043639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172377. 1

686340172378. 2

686340172379. 3
686340172380. 4

Question Number : 96 Question Id : 68634043640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What are the asymmetric hybrids?

1. Fusion of protoplast 1solated from sterile lines

[ )

. Fusion of protoplasts 1solated from actively dividing tissue of one parent and quiescent tissue of their
parent

[F%]

. Fusion of protoplast isolated from male sterile line of one parent and other fertile line

4. Fusion of protoplast from different generic lines



Options :

686340172381. 1
686340172382.2
686340172383. 3
686340172384. 4

Question Number : 96 Question Id : 68634043640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172381. 1
686340172382. 2
686340172383. 3
686340172384. 4

Question Number : 97 Question Id : 68634043641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Haploid plants are obtained by the followmg methods.

1. Placing another or isolated pollen grains on a suitable culture medium

2

. Using leaf disc as explant material

LFS]

. Using Nodal explants
4. Using endosperm as explant material

Options :

686340172385. 1
686340172386. 2
686340172387. 3
686340172388. 4

Question Number : 97 Question Id : 68634043641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340172385. 1
686340172386. 2

686340172387. 3
686340172388. 4
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Question Number : 98 Question Id : 68634043642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What happens during the process of de-differentiation

1. The cells of explant material stop dividing

[ )

. Renewal and enhanced RNA and protein synthesis leads to terms meristematic cells from explant

L]

. The explant material turns dark due to production of secondary metabolites
4. Somatic embryos cease to divide and grow

Options :

686340172389. 1

686340172390. 2

686340172391. 3
686340172392. 4

Question Number : 98 Question Id : 68634043642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340172389. 1
686340172390. 2
686340172391. 3
686340172392. 4

Question Number : 99 Question Id : 68634043643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All the material used for culture work must be freed from microbes. Which of the following approach is used
tor this

1. Colchicine treatment

2. Incubation at 37°C

3. Filter sterilization

4. Wiping with wet cotton clothe
Options :
686340172393. 1
686340172394. 2

686340172395. 3
686340172396. 4

Question Number : 99 Question Id : 68634043643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172393. 1
686340172394. 2
686340172395. 3
686340172396. 4

Question Number : 100 Question Id : 68634043644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All plant material used for culture are surface sterilized to avoid any contamination. Which of the following is
NOT used for surface sterilizations:

1. 0.1 - 1% Mercuric Chloride

| ]

1% Silver Nitrate
3. Jasmonic acid
4. 2% Sodium Hypochlorite

Options :

686340172397. 1
686340172398. 2
686340172399. 3
686340172400. 4

Question Number : 100 Question Id : 68634043644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172397. 1
686340172398. 2
686340172399. 3
686340172400. 4
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